Fluid Mechanics - Homework #3.1
Names: Ethan Eisenburger, Kayla Davies, Ethan Kishinevskiy-Kelly, Josiah Taylor, Gershon
Tolliver

This week we learned about series pipeline flows and how to apply Bernoulli’s equation to them.
We learned a general approach to the problems that will solve any series fluid problem and
learned about several classes of problems involving finding flow rate, pipe diameter, K of a
valve, and pipe length. As a class, we learned how to iterate to find these variables when
guessing some of them, and make the iteration converge towards an answer. We also went over
using the energy equation, identifying laminar and turbulent flow, and finding the friction losses
in pipes and fitting. Due to the numerous real-world systems using different elements, we had to
learn how to combine these using calculations (elbows, enlargements, reductions etc). Each
valve, fitting, or change in the size or direction of the flow path causes energy losses in the
system.
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11.20

11.20 Figure P11.20 |0 shows a pipe delivering water to the putting green on a golf course. The pressure in the main is at 80 psig and it is
® necessary to maintain a minimum of 60 psig at point B to adequately supply a sprinkler system. Specify the required size of Schedule 40

steel pipe to supply 0.50 ft® of water at 60°F.
Figure P11.20
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